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The merger of these two companies will create the world biggest firm."merger" means .........

authority combination accomodation modification

1-

1. 2. 3. 4.

The purpose of organizational modification is to increase its effectiveness. "modification"

means . ...........

stability movement feedback changing

2-

1. 2. 3. 4.

Organizational characteristics can support or inhibit the development of creative ideas. "inhibit"

means . .............

encourage withstand prevent facilitate

3-

1. 2. 3. 4.

They've diagnosed  the source of problems. "diagnose" means ................

recognized convinced solved stagnated

4-

1. 2. 3. 4.

Technological breakthrough is one of the significant changes in our organization. "breakthrough"

means . ............

exploration developement role perspective

5-

1. 2. 3. 4.

I always try to ...................customers with the new conditions.

retrieve integrate recruit accomodate

6-

1. 2. 3. 4.

To permit an organization's managers to. ........................the health of the organization, the

confrontation meeting may be used.

expose assess encompass coordinate

7-

1. 2. 3. 4.

He is the worker's representative on the ..................... .

hierarchy flow labor board

8-

1. 2. 3. 4.

.........................can be defined as the position of a person or group of people in a particular

situation.

regulation Labor Role Policy

9-

1. 2. 3. 4.

Lack of raw materials is the biggest...................for us to produce this products.

barrier integration stubborness modifier

10-

1. 2. 3. 4.

His decission has a ...................effect, and it can improve our company.

beneficial stagnant flexible redusive

11-

1. 2. 3. 4.

With all these foreign imports,our products have lost its....................advantage.

rational generative competitive integrative

12-

1. 2. 3. 4.
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The . ..................stage of the creative process in organizations consists of those steps that bring a

solution to the market.

developing implementation managing controling

13-

1. 2. 3. 4.

In order to make the company...................it will unfortunately be necessary to reduce staffing

levels.

destructive widespread voluntary viable

14-

1. 2. 3. 4.

When some one is able to change according to the situation,it is said that s/he

is. ......................... .

active craftsman productive flexible

15-

1. 2. 3. 4.

Renewal process refers to the way managers................their problem solving process to the

environment.

convince decrease expose adapt

16-

1. 2. 3. 4.

We provided ourselves with ..................of food in case there are shortages later.

profitability price stocks promotion

17-

1. 2. 3. 4.

People change focuses on such factors as employee's .....................and leadership skills.

payroll empowerment workflow attitude

18-

1. 2. 3. 4.

I think that your ................on education is rising.

perspective craftsmanship expenditure fulfillment

19-

1. 2. 3. 4.

Creative managers try to take the ....................in dealing with the problem.

technology initiative competition modification

20-

1. 2. 3. 4.

Transactional analysis attempts to reduce...................communication habits.

long-range destructive interpersonal fundamental

21-

1. 2. 3. 4.

..................is an amount of money paid to an employee who is to be dismissed for reasons other

than his own fault.

Severance Pension Salary Payroll

22-

1. 2. 3. 4.

A good management depends on the successful .................of many parts of an organization.

integration succession intervention conglomerate

23-

1. 2. 3. 4.

aaaٍٍٍ.........................is the process of a(rac)ng nd selec)ng employees for poi)ons in accordance

with organizational goals.

Evaluation Staffing Training Planning

24-

1. 2. 3. 4.
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The creativity that sparks an innovation can originate either inside or outside the organization.

"spark" means. .................... .

���� ���	
 ��� �
�
 ���� ����� ���� ����

25-

1. 2. 3. 4.

OD,is not a narrowly focused, short-term attempt at immediate change. "narrowly focused"

means. . ............ .

����� �� ����� �� �����
 �� � !��"

26-

1. 2. 3. 4.

Organic structures facilitate the flexibility,and adaptation that make the adoption of innovations

easier.  "organic " means. ................. .

#�"�
 #$����� #%���
 ���&

27-

1. 2. 3. 4.

They offer him a comprehensive training in all aspects of the business. "comprehensive"

means. . ............ .

#%���
 #$���� '�()
 *
� 

28-

1. 2. 3. 4.

He is very apt at doing difficult jobs. "apt" means. ............ .

+�,��- �)�,
 ��./0�� ��"�

29-

1. 2. 3. 4.

the change agent and selected managers examine the data and develop a preliminary diagnosis of

the nature of the problem. "preliminary" means. . .............. .

1��/ +2��34�
 #��
�(
 #5�6��

30-

1. 2. 3. 4.
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This factory has very good facilities for producing its products. ' Facilities' means................. .

policies services equipments consultants

1-

1. 2. 3. 4.

We must ...............our efforts to help the organization.

coordinate coordinates coordinated coordination

2-

1. 2. 3. 4.

Technological ....................is one of the best effects of continuous change of an organization.

barriers reduction authority breakthrough

3-

1. 2. 3. 4.

A successful manager has the ability to determine how much changes employees can withstand.

'Withstand' means.............. .

obscure encourage convince resist

4-

1. 2. 3. 4.

The managers can hardly change their employees' attitude. 'Attitude' means................. .

role opinion assisstance hierarchy

5-

1. 2. 3. 4.

You gave some excuses for not having been at the meeting but those excuses were not

very .................... .

convincing convince convincingly convincer

6-

1. 2. 3. 4.

This new project will generate many new jobs. 'generate' means................ .

compete refine retrieve produce

7-

1. 2. 3. 4.

Organizational processes can support or inhibit the development of creative ideas. ' Inhibit'

means............... .

prevent intrigue receive expose

8-

1. 2. 3. 4.

The unemployment rate is a serious problem which won't just disappear overnight. 'Rate'

means............. .

labor pace role change

9-

1. 2. 3. 4.

They must give a ................explanation for what happened. Their explanation should be based on

reason.

viable flexible rational competitive

10-

1. 2. 3. 4.

Since the janitor was sick, the employees cleaned the floor of the office at the end of the day. '

Janotor' means............ .

executive expert caretaker craftsman

11-

1. 2. 3. 4.

The repairs of this factory equipments require a lot of ................... . We need a lot of money.

succession expenditure

stagnation working condition

12-

1. 2.

3. 4.

3 از 1صفحه    91-1390نيمسال دوم         1010/10102127 

www.nashr-estekhdam.irwww.nashr-estekhdam.ir

http://www.nashr-estekhdam.ir


��� ����)
 :(
��� ���� � ������ ����� �� �  �! "#$�

كارشناسي

عنــوان درس

كد درس/رشته تحصيلي

سري سوال تستي) : دقيقه(زمان آزمون تستي: تعداد سوالات  تشريحيتشريحي

 ����� ���#%

% &� '()( (( :::

:

:

: :

 ���*$#�� 
���+�) �,��+-., 0 %1%1%23 ( �45�� 
���+�) �,��+-.%1'6('%(

Changing this technology is now operative in this company. 'Operative' means............... .

permanent fundamental out of use in use

13-

1. 2. 3. 4.

The managers ..............................their employees' performance in order to improve their work

settings. They examine their performance.

obscure operate expose screen

14-

1. 2. 3. 4.

Compensation includes .................. , benefits, and incentives given to employees in exchange for

their work.

wages integration fulfillment staffing

15-

1. 2. 3. 4.

The plan of this organization needs modification. 'Modification' means............... .

regulation research downsizing changing

16-

1. 2. 3. 4.

Our manager has no ......................of the problem.

comprehend comprehensive

comprehension comprehensively

17-

1. 2.

3. 4.

You can discuss problems and plan remedial actions by the confrontation meeting. 'Remedial'

means.............. .

voluntary helping temporary viable

18-

1. 2. 3. 4.

My....................is well-known to all employees.

stubborness stubborn stubbornly competitive

19-

1. 2. 3. 4.

You need more.....................from the buyers in order to improve your products. You need more

information about your products from the buyers.

attendance feedback fulfillment renewal

20-

1. 2. 3. 4.

If you do something on your own .................., you will plan it and decide to do it yourself without

anyone telling what to do.

type longevity stabilization initiative

21-

1. 2. 3. 4.

Our manager is doubtful that this technology will be financially....................... . He needs a new

technology.

integrative sequential viable interpersonal

22-

1. 2. 3. 4.

A model developed by Hellriegel and Slocum shows the relative importance of change to

organizational survival. 'Survival' means............... .

���� ����	
 �	�
 ��� ���


23-

1. 2. 3. 4.
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An organization that stimulates creativity is one that develops novel approaches to things. 'Novel'

means............ .

��	� ��� ������ �����

24-

1. 2. 3. 4.

Managers can use four procedures to determine the training needs of individuals in their

organization or subunits. 'Training' means............... .

������ ��� � ��	!"#$� �%&�'(

25-

1. 2. 3. 4.

Productivity in all organizations is determined by how human resources interact to the rest of the

organization. ' Productivity' means............... .

�")�� *+�%"( ,-��� ��� ���


26-

1. 2. 3. 4.

Change after change without stability typically results in confusion. 'Stability' means. .......... .

��
� �./�	01� *2�� 3	$4

27-

1. 2. 3. 4.

Outside consultants and experts are important sources of information for managers. 'Consultants'

means. ....... .

5���	%� 	&�	67	� 5����� 5	8
�	


28-

1. 2. 3. 4.

The top managers are very apt at doing difficult tasks. 'Apt' means. ....... .

,69
�� �-69� :� 6� ;"��

29-

1. 2. 3. 4.

The change agent can develope a preliminary diagnosis of the nature of the problem. 'Diagnosis'

means. ........... .

����� :" %� ����� �""!�

30-

1. 2. 3. 4.
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Management facilitated the change by showing the employees the manufacturing process.

facilitate means................

spending alot of money make easier or possible

looking for new members change something slightly

1-

1. 2.

3. 4.

Unemployment in this part of the country is virtually non-existent. virtually means...................

never always especially almost

2-

1. 2. 3. 4.

Creative people tend to be more flexible than non-creative people. flexible means..............

able to be changed easily lasting for very long

considering all parts clever and quick to learn

3-

1. 2.

3. 4.

The firm manufactures electrical devices. manufacture means...................

suit new condition the act of reducing things

resist something the business of making things

4-

1. 2.

3. 4.

Companies are trying to cut costs and speed decision making by reducing the number of middle

managers. reduce means..........

make less leave without protection

make more dismiss from job

5-

1. 2.

3. 4.

Their company gives advice about mergers of big companies. merger means...........

benefit the combining of two or more company

danger the process of diagnosing

6-

1. 2.

3. 4.

They need to refine oil in order to refine it and separate out the different elements. refine

means...........

make pure or improve discover

use for advantage arrange

7-

1. 2.

3. 4.

They must be convinced by pay, benefits, and working conditions to take and keep the job.

convince means............

make someone certain include

make less clear develop

8-

1. 2.

3. 4.

The most overlooked skill of successful change agent is the ability to determine how much

changes employees can withstand. withstand means...................

resist examine dismiss recognize

9-

1. 2. 3. 4.
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Many are doubtful that this technology will ever be financially viable. viable means.............

able to continue to exist having the power of reason

tend to destroy something describing a product

10-

1. 2.

3. 4.

Changing an organization is the process of ....................an existing organization.

modifying accepting resulting surviving

11-

1. 2. 3. 4.

The plan was not very well ............... .

coordinated coordination coordinator coordinatively

12-

1. 2. 3. 4.

Computers are used to store and ........................ information efficiently.

focus reject lose retrieve

13-

1. 2. 3. 4.

These measures will increase the company's ability to ............... income.

generate demand become employ

14-

1. 2. 3. 4.

He attributed his ................... to two factors- taking exercise and not smoking.

regulation sequence longevity severance

15-

1. 2. 3. 4.

They have tried to take the ................... in dealing with the problem.

unity diagnosis industry initiative

16-

1. 2. 3. 4.

Her knowledge ................. all aspects of the business.

encompasses guides encourages obscures

17-

1. 2. 3. 4.

Some experts think that government .................. is useful to reduce the goods prices.

distribution exploitation reduction intervention

18-

1. 2. 3. 4.

It is studying or examining an activity which takes place in the course of business. it refers

to............

working condition team building

transaction analysis  test marketing

19-

1. 2.

3. 4.

It includes the direct wages, benefits, and incentives given to employees in exchange for their

work. it refers to.....................

management compensation development evaluation

20-

1. 2. 3. 4.

The company needs to return to profitability extremely soon. profitability means..............

������ ���	 ��
�  �	������	 ���� ����
	

21-

1. 2. 3. 4.
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A conglomerate chemical company has different divisions in different parts of the country.

conglomerate means...........

 ����� ����� ���	 �� �  �!��"#� ���$� ���	 %&
'

22-

1. 2. 3. 4.

The employers have a process consultation to decide whether to increase their workers wages.

process consultation means............

(���)* +#�
� ����,�  �������	 �-���

(�*.!� %/���� 0�1-� ���-�� 23��

23-

1. 2.

3. 4.

The job rotation is used on a smaller scale whithin a working group in that factory. job rotation

means............

��& 4�
� ���& �� 5� ��& ���"-6 ���& 7��
'

24-

1. 2. 3. 4.

Management should conduct periodic reviews to make sure that the change is accomplishing

itsintended purpose. periodic review  means.................. 

�8"-,���	 ��
 � ���"/� ���* ������ �
8���	  
��9� +��*

25-

1. 2. 3. 4.

A fear of unemployment is one of the factors behind the current stagnation in the property

market. stagnation means.............

���-& ����� �:��� �;���

26-

1. 2. 3. 4.

His task assignment was to collect unclear evidance for investigation. task assignment

means...............

+)*��<"	�  ��3�� ���6�� �
=	 %>��
? ��& ���@���

27-

1. 2. 3. 4.

While a high rate of innovation often reduces short-term profitability, it is crucial for long-term

growth.crucial means.........

 �8,�)� ����# �"$��  �#.A�

28-

1. 2. 3. 4.

 We will be running a workshop on women's empowerment. empowerment means..............

���">� �8���)� B�C,� ��D��&

29-

1. 2. 3. 4.

In organizations that favor stability over growth, a traditional caretaker style of management may

be prefered. stability means...........

 %/
,�? %	�$�  ���>��	 (�3E

30-

1. 2. 3. 4.
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The action of making people or things function together efficiently and in an organized manner is

called………. .

competition consumption coordination contradiction

1-

1. 2. 3. 4.

There’s a large variety of……in the shop. You can buy anything that you need.

good lots losses goods

2-

1. 2. 3. 4.

The improvement in sales figures had a(n)……….influence on the company as a whole. This helpful

and good event happened in last July.

beneficial unfortunate beneficially unfortunately

3-

1. 2. 3. 4.

A person to whom people go for advice is called………. .

convertor constructor commissioner consultant

4-

1. 2. 3. 4.

This university has very good lab facilities. ‘Facilities’ means…….. .

teachers equipment managers students

5-

1. 2. 3. 4.

The two governments will never reach an agreement unless one or the other…….its demands.

modifies modification to modified modifications

6-

1. 2. 3. 4.

Describing a product or service publically in order to persuade people to buy or use it is called………

.

revising consuming advertising distributing

7-

1. 2. 3. 4.

A kind of test which is used to examine tentatively the degree of the marketing success is

called…….. .

text-making test-marketing touch-making torch-making

8-

1. 2. 3. 4.

Trade……make the business difficult. They prevent people from understanding or doing

something.

clerks barriers helpers assistants

9-

1. 2. 3. 4.

A good management depends on the successful…….of many parts of an organization.

integrate integrates integrated integration

10-

1. 2. 3. 4.

The unemployment…….in the underdeveloped countries has risen.

rate task role tool

11-

1. 2. 3. 4.
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With all these foreign imports, our product has lost its.……..advantage.

compete competes competitive competitively

12-

1. 2. 3. 4.

Their prices are high because production……..are very great.

rates costs stocks creativities

13-

1. 2. 3. 4.

My father is a retired person; he receives his…….from the government. This monthly payment is

enough for his living.

portion policy pension patience

14-

1. 2. 3. 4.

The amount of money for which something is sold or bought is called…….. .

price tax risk insurance

15-

1. 2. 3. 4.

At the end of the day, the employees put their chairs on their desks so that the…….had to clean

the floor of the office and the other things again.

manager supervisor  director janitor

16-

1. 2. 3. 4.

He gave some excuses for not having been at the meeting but those excuses were not very……. .

convincing convince convinces convincingly

17-

1. 2. 3. 4.

Like other organizational managers, human resource managers must consider their organization’s

environment,………, and goals.

races ranges religion resources

18-

1. 2. 3. 4.

The employees who leave jobs within the organization must be…….unless the organization is

downsizing.

replace replaces to replaces replaced

19-

1. 2. 3. 4.

They need more…….from the consumers in order to improve their goods. The consumers’

statements and information about the goods are very important.

feedback stagnation

checkbook discouragement

20-

1. 2.

3. 4.

His sister does…….work for the Hellal Ahmar two days a week. She does her work willingly,

without being forced or paid to do that.

voluntary neural forceful compulsory

21-

1. 2. 3. 4.
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There is a……….in the classification of all living creatures.

hierarch hierarchical hierarchy hierarchically

22-

1. 2. 3. 4.

To permit an organization’s managers to assess the health of the organization and set up plans of

action for improving it, the confrontation meeting may be used. ‘Permit’ means…… .

live let refuse reject

23-

1. 2. 3. 4.

The organization that is not creative and innovative may not survive. ‘Creative’ means……. .

0���1 !���  0���1 �!2� 345 !678�

24-

1. 2. 3. 4.

The production manager must work with the marketing managers. ‘Production manager’

means…….. . 
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25-

1. 2. 3. 4.

Most managers agree that if an organization is to be successful , it must change continually in

response to significant developments, such as customer needs. ‘If an organization is to be

successful’ means…….. .
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26-

1. 2.

3. 4.

In process consultation, a consultant works with organization members to help them understand

the dynamics of their working relationships in group or team situation. ‘Consultant’ means…….. . 

6I��C !��$�  �����  !�:�C�

27-

1. 2. 3. 4.

The working relationship between two or three individuals is one of the techniques that can be

used to improve the effectiveness of individuals. ‘Working relationship’ means……. .

J!2�2 GK�2! ��2�:�$L �:D� J!�1 GK�2! M��C ���1 !�1

28-

1. 2. 3. 4.

Their continuing success means that they will need to hire many staff over the coming year. ‘Hire’

means……… .

���1 N2���C2  ���1 O2�52 P�52��2 QA= ��2� 0!�R2

29-

1. 2. 3. 4.

The company offered a comprehensive training for the workers. ‘Comprehensive’ means……. .

ST�� U8V� ����� M��R

30-

1. 2. 3. 4.
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